
Paper: 1MA1/2H 

Question Answer Mark Mark scheme Additional guidance  

1  16.2 M1 for a correct first step to find BC, eg 

2 2 2
19 10 BC= +  or ( )2 2

19 10  261− = or  
2 2

19 10−   or 261  or 3 29  

Can use alternative letter for 

BC provided intention is clear 

If using an alternative method 

using trigonometry must have 

BC as the only unknown 

      

   A1 

 

for answer in the range 16.1 to 16.2   

 

ISW incorrect rounding if 

answer given in range 

 

2      (a) 2 3 3 5    M1 for a complete method to find prime factors; could be shown on a complete 

factor tree with no more than one error or by division by prime factors with 

no more than one error 

 

or for 2, 3, 3, 5 

 

Condone the inclusion of 1 for 

this mark 

  

 

(b) 

 

 

36 

A1 

 

B1 

for 2 3 3 5   oe 

 

for  36 

 

Accept 2
2 3 5   

 

Accept 2 2
2 3 or 2 2 3 3    

3  

 

4 

 

M1 

 
for method to use formula, eg ( )72 6 12 =  or ( )72 9 8 =   

 

Can be implied by 
72

6
 or 

72

9
 

   A1 

 

cao  

 

 

 

 

 

 

 

 

 

 

 

 


